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OXIDATION

is is due to oxidation.
Oxidation takes place when the apple/potato loses electrons.
What are electrons? might be your next question.
Electrons are negativ aller than or occur hin an atom)
particles fi are found in all atoms and act as the primary carrier of

electricity

The apples have

ch o

and allo g them to mix together, and causing oxidation to take .The ult is the
b ing of an apple/ or potato and many other foo
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THE EXPERIMENT

The point of the experiment was to find out which one of the liquids we used
would slow down the process of oxidation.

Out of all the liquids we used my predictions were that vinegar would be the
best and water would be the worst.

| think that vinegar would be the best because | the oxygen will react with it 1. Makes a clear
first before it reacts with the polyphenol oxidase and there fore delaying the prediction with

process of oxidation. justification.

2. Describes the

method used to
accurately collect
) and record good
= —— quality, reliable data
ina
|TEMS USED manner that could

be easily repeated.

The liquids we used were
Vinegar, oil, water and salt
We tested these liquids on
Apples and potatoes
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METHOD

We first cut the apples and potatoes into small, even pieces.
We then filled different beakers with all the different liquids
After that we submerged separate apples & potatoes into different liquids

and left one bare so that we could test all the liquids against a non-
fempered one 3. Records Raw

Z x e g data.

We set the apples & potatoes in front of the right liquid they belonged to ata
We then observed them to see which liquid took the longest to oxidate and

which one was second best and so on 4. Displays data in

We repeated this 4 times for apples and 4 times for potatoes charts.

5. Does not

report on safety

considerations

R ES U I_TS 6. Statesa

relationship

between the

variables

For apples the order for the best liquid to For potatoes the order for the best liquid to prevent appropriate for

prevent oxidation is: vinegar, oil, saltwater oxidation is: Vinegar ,saltwater, oil and then water this investigation.

and then water

Apple Results Potato Results
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OBSERVATIONS

» Overall the vinegar was the best liquid to prevent oxidation
from the liquids that we used 7. The student

» Something | noticed was that the saltwater hadi a different draws a simple

effect on the potatoes than the apples. conclusion based

« The water was the worst liquid but it does last quite a bit and o e rEsllin el
is the best for taste so if you look at it from a taste point of the experiment
view it is the clear winner. but does not
suggest any

improvements.

THE END

Overall judgement: @ In line with expectations

E Exceptional @ Above expectations @ In line with expectations B Yet to meet expectations




